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It can be inferred that he admits to the rest of the entire mawn»

Overview

Our mwn (on X,V) stated that there is a M "7 2117 for one who was 12 2w 512
09577, The R na stated that this must follow the view of 7°X» 27 that one is both
7172 (for amav on ") and 2>wn (the 'M '7). The 83 asked how can you say that the
71wn follows n'"9 and not 1Ny»Y '; since at the end of that 71wn, it states that w'"9
exempts him from 'm '7 in these last two cases (which are 7970 X¥nn vmw, and VMW
771va 19n), indicating that in all the other cases of the mawn (including 2"v2 vmwn)
even "7 agrees, so why are we saying that the 71wn is only according to n".!

n1voIN asks:
£ NI 2p9T NN DY NS

There is a slight difficulty, for what kind of inference is this.

Summary
n»doIN 1s somehow dissatisfied with this inference.

Thinking it over
Why indeed is it not a good inference, and what is the s'®713 answer; it seems like a

perfectly legitimate inference?’

! The X3 here answers that he disagrees with these last two, but he agrees by 0°273%1 7X197% 75m1 n2v (only), but not
with all the previous cases (including 5"1°2 vnw).

2 The simple understanding of MmN is, how can we infer that since w" disagrees with the last two laws that it means
that he agrees with all the other laws. Seemingly this is what the X3 actually states; that he disagrees with the last
two laws but agrees with the previous two laws (only), but not necessarily with all the other laws of the f1wn. [Perhaps
MooIN means that the answer is so obvious (!), that how could you ask such a question. ]

3 See (7187) R"w1nn and ovmn MORA.
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